






巨次の英語の文章を読み，下記の設問に答えなさい。なお， ＊ のついてい

る単語については文木の（注）を参照しなさい。

-- 2�
◇ \12 (7:,0-21) 

著作権の関係上、掲載していません。



:j --― 

◇ �12 (7:i(I 一22)

著作権の関係上、掲載していません。



出典： "Less or No Alcohol ls Better for Health", VOA LEARNING 

ENGLISH - HEALTH & LIFESTYLE (May 13, 2024), 一部改変

（注）

cardiovascular : 循環器系の flawed : 欠陥のある variant : 変異体

設問l 下線部aJについて，itの内容を明らかにして20字程度以内で日本語に

訳しなさい。

設問2 下線部bl, (dlが意図する内容を1つずつ選び，番号で答えなさい。

(bJ· 

(l) It is presumed that if you include younger people, there will be

no age advantage.

(2) It is approved that alcohol is unlikely to be heart-friendly.

(3J If you survey your research subjects without bias, you will find 

that the benefits given by alcohol will cease to exist. 

(4J If you adjust for the amount of alcohol consumption, you will 

find that the benefits of much alcohol will disappear. 

4 - ◇'.\12 (7:i(J· 2げ）

著作権の関係上、掲載していません。







巨次の英語の文章を読み，下記の設問に答えなさい。なお， ＊ のついてい

る単語については文末の（注）を参照しなさい。

�7 ◇ M2(750-26)

著作権の関係上、掲載していません。



- 8 ◇ M2(750-27l

著作権の関係上、掲載していません。



出典： "The Future is folded", National Geographic (Feb、2023)より抜粋， 一

部改変

―- 9 ◇ M2 (7SO -28J 

著作権の関係上、掲載していません。














